Algebra I

Solving Systems:
Linear Transformations

9-5

Solve each system. (pg 432)

1) @x@“
3x-2y=5

2(3)+y=8
(e y=8

9s=2

When you substitute 3 for x,
you can choose either of the
two original equations. We
picked 2x +y = 8 because
the numbers seemed smaller
and easier to work with.
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When starting, we could cancel the 5p and 4p using 20 as a common multiple,
but then we would have had to multiply by 5 and -4, instead of 5 and 2 to get
the gs to match. Since 5 and 2 are smaller, we choose to eliminate the gs.




